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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24  VU—50–2—Sociology–II
No. of Printed Pages — 7

flÁ⁄Uc∆U ©U¬ÊäÿÊÿ ¬⁄UËˇÊÊ, 2010

‚◊Ê¡‡ÊÊSòÊ◊˜
ÁmÃËÿ¬òÊ◊˜

‚◊ÿ — 3 14   ÉÊá≈U

¬ÍáÊÊZ∑§ — 60

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —

GENERAL INSTRUCTIONS TO THE EXAMINEES :

1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –

Candidate must write first his / her Roll No. on the question

paper compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚
„UÙŸ ¬⁄U Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –

If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version

should be treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –

All the questions are compulsory.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –

Write the answer to each question in the given answer-book only.
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5. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 7 Ã∑§ ∑§ ©UûÊ⁄ ¬˝àÿ∑§U 20 ‡ÊéŒÙ¥ ‚, ¬˝‡Ÿ ‚¢ÅÿÊ 8 ‚ 11 Ã∑§ ∑§
©UûÊ⁄U ¬˝àÿ∑  50 ‡ÊéŒÙ¥ ‚, ¬˝‡Ÿ ‚¢ÅÿÊ 12 ‚ 21 Ã∑§ ∑§ ©UûÊ⁄U ¬˝àÿ∑  75 ‡ÊéŒÙ¥ ‚
ÃÕÊ ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ∑§ ©UûÊ⁄U ¬˝àÿ∑  200 ‡ÊéŒÙ¥ ‚ •Áœ∑§ Ÿ „UÙ –

 Answers of Question Nos. 2 to 7 should not exceed 20 words

each, Question Nos. 8 to 11 should not exceed 50 words each,

Question Nos. 12 to 21 should not exceed 75 words each and

Question Nos. 22 to 24 should not exceed 200 words each.

6. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ
‚ÃÃ˜ Á‹π¥ –

For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in

continuity.

7. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U
Áfl∑§À¬ ( •, ’, ‚ ∞fl¢ Œ ) „Ò ¥ U  – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥
ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê ’ŸÊ∑§⁄U Á‹π¥ —

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each

part has four alternatives A, B, C and D. Write the letter of the

correct alternative in the answer-book at a place by making a

table as mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.      (i)

1.      (ii)

1.      (iii)

1.      (iv)
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1. (i) ‚Ê◊ÊÁ¡∑§ ¬Á⁄UflÃ¸Ÿ ∞∑§ ......................  „ÒU –

(•) •ÊÁÕ¸∑§ •flœÊ⁄UáÊÊ (’) ‚◊Ê¡‡ÊÊSòÊËÿ •flœÊ⁄UáÊÊ

(‚) √ÿÊfl‚ÊÁÿ∑§ •flœÊ⁄UáÊÊ (Œ) flÒôÊÊÁŸ∑§ •flœÊ⁄UáÊÊ –

Social change is a/an

(A) Economic concept (B) Sociological concept

(C) Occupational concept (D) Scientific concept. 1
2 

(ii) “ŒË ‡Ê«KÍÀ«U ≈˛UÊßé‚” ŸÊ◊∑§ ¬ÈSÃ∑§ ∑§Ê ‚ê’ãœ Á∑§‚ ‹π∑§ ‚ „Ò ?

(•) ∞‚0 ’Ë0 ⁄UÊÿ (’) ¡Ë0 ∞‚0 ÉÊÈÁ⁄Uÿ

(‚) „U^ÔUŸ (Œ) ◊¡Í◊ŒÊ⁄U –

The book 'The Scheduled Tribes' is related with which writer ?

(A) S. B. Roy (B) G. S. Ghurye

(C) Hutton (D) Majumdar. 1
2 

(iii) ⁄UÊc≈˛UËÿ ◊Á„U‹Ê •ÊÿÊª ∑§Ë SÕÊ¬ŸÊ ∑§Ê fl·¸ „ÒU

(•) 1890 (’) 1930

(‚) 1992 (Œ) 1998.

Foundation year of the National Commission for Women is

(A) 1890 (B) 1930

(C) 1992 (D) 1998. 1
2 
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(iv) ’Ê«UÊ •ÊãŒÊ‹Ÿ ∑§Ê ‚ê’ãœ „ÒU

(•) ˇÊòÊflÊŒ ‚ (’) ÷Ê·ÊflÊŒ ‚

(‚) •ÊÃ¢∑§flÊŒ ‚ (Œ) ⁄UÊ¡ŸÒÁÃ∑§flÊŒ ‚ –

Bodo Movement is related with

(A) Regionalism (B) Linguism

(C) Terrorism (D) Politicalism. 1
2 

2. «UÊÚ0 Ÿ◊¸Œ‡fl⁄U ¬˝‚ÊŒ ∑§ •ŸÈ‚Ê⁄U •ÊœÈÁŸ∑§Ë∑§⁄UáÊ ∑§Ë ŒÊ Áfl‡Ê·ÃÊ∞° ’ÃÊß∞ –

Mention two characteristics of modernization, according to

Dr. Narmadeswar Prasad. 1

3. “◊Ê«UŸÊ¸ß¡‡ÊŸ •ÊÚ»§ ßÁá«UÿŸ ≈˛UÁ«U‡ÊŸ” ¬ÈSÃ∑§ ∑§ ‹π∑§ ∑§ÊÒŸ „ÒU ?

Who is the author of the boook 'Modernization of Indian Tradition' ?  1

4. ©UŒÊ⁄UË∑§⁄UáÊ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§Ê ÁmÃËÿ ø⁄UáÊ ∑§’ ‚ ¬˝Ê⁄¢U÷ „ÈU•Ê ? 

When did the second phase of liberalisation process start ? 1

5. ‚¢S∑Î§ÁÃ∑§⁄UáÊ ∑§ ŒÊ dÊÃ ’ÃÊß∞ – 

Mention two sources of Sanskritization. 1

6. Ÿª⁄UË∑§⁄UáÊ ‚ ∑§ÊÒŸ-∑§ÊÒŸ-‚Ë ‚¢SÕÊ∞° ¬˝÷ÊÁflÃ „UÊ ⁄U„UË „Ò¥U ?

Which institutions are effected by urbanization ? 1



5

VU—50–2—Sociology–II  VU– 00Z   [ Turn over

7. “flÒÁ‡fl∑§ ªÊ°fl” ∑§Ë •flœÊ⁄UáÊÊ ∑§ ¡Ÿ∑§ ∑§ÊÒŸ „ÒU ?

Who is the father of the concept of 'global village' ?  1

8. ‚Ê◊ÊÁ¡∑§ ‚◊SÿÊ•Ê¥ ∑§Ë ÃËŸ Áfl‡Ê·ÃÊ∞° Á‹Áπ∞ – 

Write three characteristics of social problems. 11
2 

9. ÷Ê⁄UÃËÿ ‚¢ÁflœÊŸ ∑§Ë œÊ⁄UÊ 46 ∑§Ê ‚ê’ãœ Á∑§‚‚ „Ò fl ß‚◊¥ ÄÿÊ-ÄÿÊ ¬˝ÊflœÊŸ „Ò¥ ?

What is related to Article 46 of the Constitution of India and what
provisions are there in it ? 1

2  + 1 = 11
2 

10. ÷Ê⁄UÃËÿ ◊Á„U‹Ê•Ê¥ ‚ ‚ê’ÁãœÃ ÃËŸ flÒflÊÁ„U∑§ ‚◊SÿÊ•Ê¥ ∑§Ê Á‹Áπ∞ – 

Write three marital problems of Indian women. 11
2 

11. ÁflŸÊflÊ ÷Êfl ∑§ •ŸÈ‚Ê⁄U ⁄UÊc≈˛UËÿ ∞∑§ÃÊ ÄÿÊ „ÒU ?

What is the national integrity according to Vinobha Bhave ?  11
2 

12. ‚Ê◊ÊÁ¡∑§ ¬Á⁄UflÃ¸Ÿ ∑§ ÷ÊÒªÊÁ‹∑§ ∑§Ê⁄U∑§Ê¥ ∑§Ê ’ÃÊß∞ –

Mention the geographical factors of social change.  3

13. •ÊÁÕ¸∑§ ÁŸœÊ¸⁄UáÊflÊŒ ¬⁄U ∑§Ê‹¸ ◊ÊÄ‚¸ ∑§ ÁfløÊ⁄U Á‹π¥ –

Write the views of Karl Marx on economic determinism. 3

14. ¬˝ÊÒlÊÁª∑§Ë ∑§Ê⁄U∑§Ê¥ ‚ ©Uà¬ÛÊ ‚Ê◊ÊÁ¡∑§ ¬˝÷ÊflÊ¥ ∑§Ê ‚◊¤ÊÊß∞ –

Explain the sociological effects which are brought by technological

factors. 3



6

VU—50–2—Sociology–II  VU– 00Z   

15. ∑˝§Ê¢ÁÃ mÊ⁄UÊ ‹Êÿ ªÿ ‚Ê◊ÊÁ¡∑§ ¬Á⁄UflÃ¸Ÿ ∑§ Á∑§ã„UË¥ ÃËŸ ¬˝÷ÊflÊ¥ ∑§Ê Á‹Áπ∞ – 

Write any three impacts of revolution on social changes. 3

16. ¬˝ªÁÃ ∑§Ë Á∑§ã„UË¥ ÃËŸ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê Á‹Áπ∞ –

Write any three characteristics of progress. 3

17. ““‚Ê◊ÊÁ¡∑§ ¬Á⁄UflÃ¸Ÿ ‚Ê◊ÊÁ¡∑§ ‚◊SÿÊ•Ê¥ ∑§Ê ¡ã◊ ŒÃÊ „ÒU –”” ÁflfløŸÊ ∑§ËÁ¡∞ –

 "Social change gives birth to social problems."  Discuss. 3

18. ◊¢«U‹ •ÊÿÊª ∑§Ë Á‚»§ÊÁ⁄U‡ÊÊ¥ ¬⁄U ¬˝∑§Ê‡Ê «UÊÁ‹∞ – 

Throw light on the recommendations of Mandal Commission. 3

19. ’Ê‹ üÊ◊ ⁄UÊ∑§Ÿ ∑§ Á‹ÿ Á∑§ÿ ªÿ ‚⁄U∑§Ê⁄UË ¬˝ÿÊ‚Ê¥ ∑§Ë ÁflfløŸÊ ∑§ËÁ¡∞ – 

Discuss the efforts of the Government to prevent child labour. 3

20. ⁄UÊc≈˛UËÿ ∞∑§Ë∑§⁄UáÊ ∑§ ’Êœ∑§ ÃàflÊ¥ ∑§Ê ‚◊¤ÊÊß∞ –

Explain the elements of hindrance in national integration. 3

21. ‚Ê¢S∑Î§ÁÃ∑§ ∑§Ê⁄U∑§Ê¥ ∑§Ê ‚◊Ê¡ ¬⁄U ¬«∏UŸ flÊ‹ ¬˝÷Êfl ∑§Ê ‚◊¤ÊÊß∞ –

Explain the impact of cultural factors on society. 3

22. “’ÊÁ‹∑§Ê Á‡ÊˇÊÊ” ¬⁄U ∞∑§ ÁŸ’ãœ Á‹π¥ –

Write an essay on 'Girls Education'. 5
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23. ““•ÊœÈÁŸ∑§Ë∑§⁄UáÊ ’„È-•ÊÿÊ◊Ë ‚Ê◊ÊÁ¡∑§ ¬Á⁄UflÃ¸Ÿ ∑§Ë ¬˝Á∑˝§ÿÊ „Ò –”” ß‚ ∑§ÕŸ ¬⁄U •¬Ÿ

ÁfløÊ⁄U ¬˝∑§≈U ∑§⁄¥U –

"Modernization is a multi-dimensional process of social change." Give

your comments on the statement.  5

24. ‹ÊÒÁ∑§∑§Ë∑§⁄UáÊ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥ ? ß‚ ¬˝Á∑˝§ÿÊ ‚ ‚◊Ê¡ ◊¥ •Êÿ ¬Á⁄UflÃ¸Ÿ ∑§Ê

‚◊¤ÊÊß∞ –

What do you understand by Secularization ? Explain the changes

brought by this process in the society. 2 + 4 = 6

                        


